December 1, 1993

WOCOMAL VARSITY MEET
Arithmetic — percent, interest, discount, fractions
and decimals
ALL ANSWERS MUST EFE IN SIMPLEST EXACT FCRM

1. The me/ucz‘ o Fhe

refcaﬁ‘nj decimals 00,3333 4.0 0.2229
/s a

f\f/oea/vnj decimal.  Find the sccmd Adigit e right J He
decrmal 20t that Pmdw{

So

The hdcvest was cornucepian, as i} was 120670 greater (han
[ost Years. [ the gield Was 132,000 byghe/s how
Manj f)u:(xc/f weie /Iart/(SzLéd /asf Gear ?

3. A store gaw a discount an a number g rtems.  Twe doys later

Jﬁavc ¢ 20 Do discovat on ‘/Z/J o e 7€Tff Z//'I(au.ﬂl, /( e
/wa SUCCESTING c'//;f[ou’m[j‘ are éfu/'t/d/c’wf 7[0' G S/ﬁj/( 3/./_A/70
K//AJCOUML, b./f;af was f%( ';70 (;{ [(‘A’e -F/‘/‘Jf C/,'j(a(mf?

ANSWERS

1 pt; 1

(2 pts) 2.

(3 pts) 3. (7"

£lgorquin, Auburn, Scutl




December 1, 1593 WOZOMAL VAKSITY MEET

ROUND II: Set tneory and logic

ALL ANSWERS MUST BE Ik STMPLEST EXACT FORM

[. How many subsets of {-G\CJ)(—‘F} have G as an element T

2. Nine pesple are st‘anzlinj in a circle. Juan begins Counting itk

"one. Toog beside him. says dwo " apd e remaining peeple
Continue  arosnd (he Cirele 00‘7*7'/’7 ‘/l%rez,“ "/Aur,“ "0,7 v

e "
'1%*66[ " fpor " cte.  Cacl person who (alls st “foor " [ecves

the crrele and He wmh‘wj Canbipues . How maoy thnes wil) (ony
call oot @ pumber sther Hhan oo, ?

t

3. (f A,B aad C arc svbsets of (| ~ {O,/,'Z, 3.4 S,é}
and AvB = {1,2,3 4,57  AuC = {(,3,%5}) AnC= A
AnB =@  and BnC = f’3’,,5f , S/Dec/fy B gj 1,-5{77,7 il

elements.

ANSWERS
(1 pt) 1.

(2 pta) 2.

(3 pesy 3. B 1 /

Burncoat, DoYsrty, St.Peter-Marisn



December 1, 1993 WOCOMAL VARSITY MEET
ROUND III: Algebra 1 — opsen

ALL ANSWERS MUST BE IN SIMPLEST EXACT FORM

/ S-Df\/f )(é:k“'-’z[j://

Al

C3x -~ 1y =

N

2. 14 Sy = 4 what s The value of yx ¢

3 A tran ayerages { miles per hour for < hover folliwed
b7 an averege of r miles per hooe Jar He pext t hours
What 15 (15 average speed during these 4+t hoves 7

ANSWEFRS

(1

pt) 1. _X° , I 7

pts) 2.

Bartlett, Tahanto, Worcester Academy
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®tCUND IV: Sequences and series

ALL ANSWERS MUST BE IN SIMPLEST EXACT FORM

[ If the ficst term of an arithnetic  sequence s & and He teath
feim s (2, fod He comman differeace.

2 In a sequence | an = 3a,., ~1 aad a, = 5.
Find ferm A,

3. In the sequence &, v, Y (6 H: fis? three fems
fom an griffmetic sequence and  The last three ferms form a
Geometric sequence.  Fapd all possible ordercd pairs (W3j)
for which fhis A&/)/)c'ns,

ANSWERS
(1 pt) 1.

(2 pts) 2.

(3 pte) 3,

Algonquin, Bancroft | Oneboas
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HOUND V: Matrix and feterminant opcrations

ALL ANSWERS MUST Bk IN SIMPLEST EXAS™ PORM

/. 50/\/1’ 'QJ( x

7 /:('pp( ma ILF"K /_T)) llf

[ 0- - B i 2 )
- [ =
=205 -2 -0 ()

—

3. State a caeition expressing @ in teims of b ond ¢

which is necessary for Mf Valde 07C ﬁie a’(v’f/m/naﬂf

a b ¢
f2 3
¥ 5 ¢

1o be 2¢00.

{2 pte) 2,

Burr.coat ., Doherty, Worcestci Academy
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December 1, 3

TkAM rOUND: Topics of previous rounds and open

ALL ANSWERS MUST BE IN SIMPLEST EXACT FORM 5 points
ANT, ON THE SEPARATE TEAM ANSWER SHEET polnts each

/. k/c/mny had a g’c/c//n7 average oA 925 NHter four Eyors 10 Frve

2.

“

c‘lances) his avemqce ;Irop/)cd {6 Y96 . //)c/ud/‘n7 hese @ur) how

manj errprs /]ad ﬁe M(l(/c’ ﬁ// scasun ')
Six switches AB.C,D EF are Connccled on an electrical Circuct so 14t
arel anly (" at least one Switch is closcd. [Tow Mang

& //jhf will g0 on (f
and clesed switches cyist that will /Oc’/,w/’ The //7111‘

arrangements of open
70 go o’ ((dm/‘do switeh A clased and all He rest 9P £y be difFerent

from Switete B closed upg alf he rest opm./)

Solve > 3 — X . 2
Y =5% +6 X-3 ‘ﬁ—_y-,z

The digital sun ot a nuber s the sum of its digits. (£ He resulting sum

/s greater han 7, the d,7,;‘r are summed agarn Ymh( a onc¢ ///;7 A pumber /v
obtained. W the cigital sum of an ipteger 0 (s depoted d(n) evaluafe

2 aln)

nz |
-2 o 1]« 4
I 3 3 3|49 = /5] find x4y« 2
f 3 -1 0|z —(,g
Find all possible paris of 'DéS/‘f/‘VC integery (A,B) so thaf %‘ + % = ’;-L
Find the middle decm in rfe vxpansien of (‘27 + g/\}&(

Find fhe raho of the Stele of & 5904 s e side of Gy (fulka/C’/a«/

YLr‘fanj/c if the axac o cacl dre equal.
Fivd the area of the tegion bovaded by [x 44| 4 | X-y| =2

/‘(\ M{ ’)/‘1 I/\/ane.

fvlgonquin, Auburn, Marlber~, Shepherd Hill, Tahanto, West Bolyston,
Worcester Academy
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